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1.  (RIATHR <A PG TS ¥ HIVA 2

(1) <A (2) WRa (@) == (4) TS W
Which one of the following is a country of depopulation ?

(1) Japan (2) India (3) China (4) Bangala Desh

2. 1S 2010 T YR TN G Gord 07 ekt {18707 SHIA@gR Y@t qeqal hedl 3Ted.
(a) 5 osieaT 3T IREUT el T Fol,
(b) 5t s fererh-fereneft yamomgaR fuereri= frgeit o

(c) oufinfera frersrien 5 awf=n emma yferaror <o,

(d) IRrg Yo Riao.
Fett Hivr faem sRieT omea ?
1) (@, ()7 () 2 ®F( (3') () (4) & TR

The Right of children to free and compulsory education Act implemented by Indian
Government on 15t April 2010 includes the following provisions :

(a) neighbourhood schools to be established within 5 years.

(b) provision of teachers as per pupil teacher ratio to be made within 5 years.
(c) Training untrained Teachers within five years.

(d) provide health facilities.

Which of the above statements are correct ?

(1) (@), (b)and (c) (2) (b)and (c) (3) Only (c) (4) All are correct
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3. T g9 SR fuecen st 9 @ w5

It

TEIHS A
T W

SIS YR dreare
3FeRT S STert
@ () (© (@
(iv) () (@) (i)

@ @) @) @)

@ @ G W)
M G Gv) G

SAARC Youth Award Winners and their work :

(@)
(b)

(©)

(d)

@
(2)
®)
(4)

Winner
Mr. Mushfiqul Alam
Mr. Hassan Sher

Mr. Ajij Prasad Poudyal

Ms. Anoka Primrose Abeyranthe

@ () () ()
(v) () @ (i)
d) @) @) @)
@) () @) (@)
@ @ Gv) G

(iif)

(iv)

Eae]

IR

IR ot &3 qoya Siee

CIC IR GRS PR CIERAS ER G|

TERO] YT 5 SIS ARH

Work
Creative Photography

Invention in the field of traditional
medicine

Outstanding contribution to raising
awareness for TB and HIV/AIDS

Outstanding contribution to the
protection of environment
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4. YN MG IRE WA WAl fCoed WRATSAT Ufve "R 39 T Hald Ul TS
Foe TSAIT 3T ?
1) (2) dHSTS (3) wAleSH (4) WHENY

UNESCO has announced thirty nine sites as world heritage sites in Western Ghats of
India, which state has the lowest number of sites on the list ?

(1) Kerala (2) Tamilnadu (3) Karnataka (4) Maharashtra

5. AU Aot o qodie STEIMER YR ' eI ' Woteieh il ast =i Huam
TS ? .

(1) ¥ -1975 2) e - 1977 (3) | -1980 (4) HER - 1982

When did International Commission for assessment of small pox eradication declare India
as a - ‘Small pox free country’ ?

(1) March - 1975 (2) April - 1977 (3) May - 1980 (4) January - 1982

6. <R GANITGRE G& (I seeg G ONe W) a1 Sfoaay Sed= T 1936 9o
A, TS det a1 HE e e HT B 2

(1) maﬁ@z—uﬁmﬁwwﬁv@ma&
2) R IEEH TR YR TFo G NS a6
() W At 2L TYUE T AE NS T
(4) TR ITHSH 2T UL o G RIS Th

The Prestigious Tata Institute of Social Sciences was established in the year 1936. What
was its original name at the time of inception ?

(1) Sir Jamshetjee Tata Graduate School of Social Work
(2) Sir Dorabjee Tata Graduate School of Social Work
(3) Sir Ratanlaljee Tata Graduate School of Social Work

. (4) Sir Behramjee Tata Graduate School of Social Work
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7. QOIS S8 S Taekmor i=ar 9g e eEl.  (IrF a9y faen)

ISl .1 G 1t .2 fawmror
() TGS T wen () e
(b) T AR fawa e (i) HEH
(c) TEARANTA HcIHIOTHIS! T Feel (i) g
(d) TR qerEA fkreor snftn weleT weern (iv) ==

| (v) fEehEuEr
e

(@ () () (@
(1) (v) @) @ ()
2 @ (v) 3Gi) @)
(3) (i) @) (v) (i)
(4) @) (@) (v) (i)

Match the instructions and their places.

(Use correct codes)

List 1 - Institutions

List 2 - Places

(a) National Institute for Visually Handicapped (i) Dehradun
(b) National Institute for Mentally Handicapped (i) Kattack
(c) National Institute for Empowrement of Persons  (iii)) Mumbai
with Multiple Disabilities
(d) National Institute of Rehabilitation Training and (iv) Chennai
Research
(v)  Secunderabad
Codes :
@ (b (9 (d
1 Gv) @@ @ )
2 O G @) (i
() G @ (Gv) (i)
@ 6 @) Gv) @

HeAl HIEIE AT /SPACE FOR ROUGH WORK
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8. WTRKI® TSN AT oAl

T2 et fnen sifiam @ dsHeiaia Suosy T&d 319 giaur o1 :

(a) ifafiem ot (b) T

(©) wrerm (d) TETETE

(e) IS® Ylaw () 3w A freemiae) fer aede
T SN ¢

1) (a) (2) (b 3) (9 4 (e
Odd man out

Important facilities provided under the scheme - Rashtriya Madhyamik Shiksha Abhiyan
are :

(a) Additional class rooms (b) Laboratories

(c) Play Grounds (d) Toilet blocks

(e) Drinking water provisions (f) Residential Hostels for Teachers in remote areas.

Answer Options :

1) () 2) (b 3 (9 @) (o)
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9. wWlw SYfas I 3.
(1) fomrdis sTgRM s
(2) IR TAMVE HEw
(3) AfEe ardr dafem g
4) Tt HomEE .

Following logo belongs to
(1)  University Grants Commission

(2) Maharashtra Technical Education Board
(3) All India Council for Technical Education
(4) None of the above

10. YRAMIS UL SHEE YR FIMH IS <d 7

(1) ¥R I (2) faw pa

(3) YRUHTH UHIVIITTHS BV TSI (4) TTHIO YRTHSH TEHS BN TSR
The National Population Policy in India encourages.

(1) Joint family (2) Nuclear family

(3) Urban to rural migration (4) Rural to urban migration

HeAT HHTETS STRT /SPACE FOR ROUGH WORK
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11. A Sl oL
(a) IS WY () T s@t
(b) 3 TEE WHE () FO W
(¢) SARHRfHT BR = (i) 3 TS
() & o1 g Jelwt (iv) 3% T
WIAGUH! IV SISt T TR ?

@@ (b) () (d)
1) @) Gv) @) @

(2) @) @v) @) @

@) @ @ O @)

@ O @ @) (v)

Match the following :

(a) Floodgates (i) Kiran Bedi
(b) A Life Shared (i) Ela Bhat

(c) Organising for change (i) Sai Paranjape
(d) Taking up the challenge (iv) Aruna Roy

Which of the following match is correct ?

@@ (b) () (d)

1) @) @Gv) @) @
@) @) () @) @
3 G @ @ @)
@ @O @ @) (v)

12. difes snftn wow STERM=N AegARE forn oftn sTes Fier qioves| GURUAER Goiaust
IO IS W 3 7

(1) 2 TR i e Hem FHrEwmd
2) THHE a1 fowrd ¥ar Fe
(3) T FI FARTT FA AT
(4) WUHS TR 7o G Frs

Which of the following programmes proposes to improve the nutritional status of women
and children through healthy and balanced diet ?

(1) Family Planning and Welfare Programme

(2) Integrated Child Development Services Scheme
(3) National Family Health Survey Scheme

(4) Primary Health Care and Nutritional Scheme

Hoedl HIHTETS SR /SPACE FOR ROUGH WORK
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13. 9RdH foamdis ¥oe (AIU) GTotetst Siv e 30 et ?
1)  SrRfeEmdia o HEHaTS S H.
) memwwmmﬁﬁww
(3) oM faemdiEh el Wyfe smsH .
4) W faardeh de= oasT S,
Which function Association of Indian Universities (AIU) does not perform ?
(1) AIU holds Inter University Youth Festivals

(2) The home stay exchange schemes offering opportunity to live with family of the
other region or state :

(3) Conducts Inter University Sports

(4) Conducts Common University Examination

14. YRATAT Ya9eiel UF SHsdd 9eorR 9ibdl e, o= 329 ara™ JHad
TR wfEdia FT0 9 SR,
(1) T4 (2) TWELAE (3) WEIRIRIA (4) IS
The is a high level Commission/advisory body to the Prime Minister of India
with the objective of transforming India into a knowledge society.
(1) NK.C (2 N.CTE (3) N.CERT 4) UG.C
15. 3-f¥1eT @ Th@ PPP (SRS @rseit 9riieRY ) 1 fafay U smeri=n sv-aam st
+OL. HIY T HABEl.
+ T+ +3AM++q+
M %TE 2 "R @) %% @ T

E - Shiksha @ schools is a PPP (Public Private Partnership) model implemented in
co-ordination with the various state governments, guess my name :

+ E + +A+N+T+

1) V,D,1 2 HMA 3) V,D A 4) EKA

ol HIMMEISI ST /SPACE FOR ROUGH WORK
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16. TIHGYSH! BV fTUH SRR 2R ?
(a) 2007 H¥A U HAGUTAT AT THBIFEaE HYor TgHer STt IR S
VA AR Th W ARG Fra.

(b) ST Fefed TR oo dF TegEer sty snfor foe 7 qgm, anfn
Y T yREN-TaeTde i g 9Rar 2011 99 H9R He.

T IW ¢

(1) W (a) I AR (2) TR (b) IR IR

(3)  (a) S (b) IET IR A 4) (a) 3Tl (b) ST I MR

State which of the following statements are true :

(@) In 2007, India became one of the last countries to ratify the UN convention on the
Rights of Persons with Disabilities.

(b) In 2011, India ratified UN convention against transnational organised crime and its
three protocols and UN convention against corruption.

Answer Options :
(1) Only (a) is true (2) Only (b) is true
(3) Both (a) and (b) are true (4) Both (a) and (b) are false

17.  RAMES TErEaUs d T Tashrarer et giesT Tereieno, w{-w, w3 YOS, AR
anifor g2 fasheienturen sedig 20 a9 Seaiyd Tqd YUH HHHE hivd {9 3R ?

(1) e (2) T (3) Y (4) ¥

On the basis of Panchayat Raj and Rural Development, which state stands first
continuously for the last 20 years in respect of Womens Empowerment, Health, Pure
drinking water, Human Rights and Decentralization of powers ?

(1) Maharashtra  (2) Gujarat (3) Tamilnadu (4) Kerala

18. Toio faum vgmEi.
(a) T FEUTER STEafSHa FivTes Y0 8 Fer O™ Hasd 3T
(b) M TOT GOt 7 STETATE ARt Ti9Te 0 SEUTRNE ST,
(1) () TR T (b) TF () (b) FR G (a) I
(3)  (a) ¥ (b) TR FR 4 ()3 (b) TR TH
Consider the following statements :
(@) According to Muslim Law only sons have the duty to maintain their aged parents.
(b) Both sons and daughters are bound to maintain their parents.

(1) (a) is correct but not (b) (2) (b) is correct but not (a)
(3) Both (a) and (b) are correct (4) Neither (a) not (b) is correct

THeeaT SHITTETS ST /SPACE FOR ROUGH WORK

P.T.O.
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19. WG TIGIHIONG IV TR /T WSS TZHi TR FoaT 3R ?
@) ST day onfh o1 Haumed sgo Fuare THdY A1 SESH S99 TeEe 9 e,
(i) T-ITEYUTET oA fqwiaa w0, 3fd aee 9 FAER wa:de aEdie fava
ST w:d g frfa .
e
(a) §IH U Fa (MASH §8=A (UNFPA)
(b) WIH TR TS arow g 4t (UNICEF)
(©) Taw T ufen faw fdt (UNDFW)
(d) HgF T fowE ®wEHET (UNDP)
g
(1) () 3 (d) B (2) () o (3) (a) ST (B)FH (4) (a) FH
Which of the Organisation/s include the following factors in Women’s Empowerment ?

(i)  Acquiring knowledge and understanding of gender relations and the ways in which
these relations may be changed.

(ii) Developing a sense of self-worth, a belief in one’s ability to secure desired changes
and right to control one’s life.

Organizations :

(@) United Nations Family Planning Assistance (UNFPA)

(b) United Nations International Children Education Fund (UNICEF)

(c) United Nations Development Fund for Women (UNDFW)

(d) United Nations Development Programme (UNDP)

Options :

(1) (@and(d)only (2) (cjonly (3) (a)and (b) only (4) (a) only

20. T 2005 WEd AR oSl 9RA FHEI AR Wotedst HITET GHE AT 2
1) Sefge 2) ™ (3) W= (4) TWER
What does Bharat Nirman Yojana launched in the year 2005 not provide ?

(1) Irrigation (2) Roads (3) Sanitation (4) Telecommunication

HoAT HIUEIS AT /SPACE FOR ROUGH WORK
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21, WAl R Afva ARSI 417 Siee Jel.
(@) TAF FHI T WA 9 T AR, G w12
(b) TAHTE GO STIUIT AUHR R, (iiy w1
(€) TCHHE USHNUG WeHTlt BIoaren AR AR, (i) +od 3
(d) TN Sifaarn fysR IR, (iv) weH 21
@ b (© (@
O 6 @ @)
(2) @ @ @v) ()
@) @) @ @ G
4 @) @ @) (@)
Match the pairs in terms of the World declaration.
(a) Everyone is born free and equal (i) Article 12
(b) Everyone has right to privacy (i) Article 1
(c) Everyone has right to participate in politics (iii) Article 3
(d) Everyone has right to life (iv) Article 21
@ (b (© (@
1) @ @) @) (@)
(2) @@ @ Gv) (i)
(3 @@ (v) (@) ()
@ @) @ @G (@
22. & Ste watq Hiet ol SRR AN IR
(1) ¥HY IER FRHT (2) TR HNA FEEd
(3) 3JY wMEHH (4) @IS S FEFHA
The is the world’s largest school feeding programme.
(1) Nutritious Food Programme (2) Mid Day Meal Programme
(3) Milk Programme (4) Lunch Box Programme
23. U Qa1 deAemEd IEe wive faum v ?
(a) Ve 9 AYfaeTedmie qeul faeneaie I 9 v faey gy sy,
(b) e Wi = YAt Tl 1969 TE PURY.
() TSN 491 A sgas =oe e 3 v 9 ¢ gerfameg @ ma
(d) ISH TR AF BN AR W g
(1) % (b) (2) ®H () (3) WX (d) (4) (o) 3o (d)
Which of the following statements about the National Service Scheme is not correct ?
(a) Itis started with the objective to develop character and personality of student youth
in schools and colleges.
(b) It was launched during the birth centenary celebration of Mahatma Gandhi in 1969.
(c) The motto of the NSS is “campus to community” and “college to village”.
(d) The approach is “Not me but you”
(1) Only (b) (2) Only (0 (3) Only (d) (4) () and (d)

oAl RIS IR /SPACE FOR ROUGH WORK
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24, 99 faem gaTe 99 nfvr fawy -
(a) WIS f9HE 3TEaT® 2001 - HewR! faem™ o8 : el gefauarandt Temed qse
(b) W faw™ STRaTE 2006 - TEASAS TStHS; 50, TIst i dfyasd W& Fhe
(c) T4 fashE 3TgaTe 2008 - srEvier fas : ArFa nfaeiiear sufor fawm
(d) wHd fowM sTgeTe 2013 - <f&orET 379 : fafgya of foavamesd A faww
FAGIR! HIV T SRS TR 2

1) (@d¥() 2) (b), () T (d)
(3) (b)9(d) (4) Hd S 3R
Human Development Report : Year and Subject

(a) HDR 2001 - Millennium Development Goals : A common understanding among
nations to end human poverty.

(b) HDR 2006 - Beyond scarcity ; Power, Poverty and the Global Water Crisis.
(c) HDR 2008 - Overcoming Barriers ; Human mobility and development.

(d) HDR 2013 - The Rise of the South ; Human progress in a diverse world.
Which of the above options are correct ?

(1) (a) and () (2)  (b) (c) and (d)

(3) (b)and (d) (4) All are correct

25. v 9N Il U GRS e ?

(1) 1999 (2) 2012 (3) 1990 (4) 2010
In which year National Policy for Older persons came into existence ?
(1) 1999 (2) 2012 (3) 1990 (4) 2010

26. TTEH TGETV FHEUTS FHOH 12 Fq1d TR WS FAA F1E B SN FHAE GIOIGIHh! HIvl
TERITTER T g 2
(1) e W& (GEIT) HTIEI 1986
(2) UTEH W&V (EET) HEI 1990
(3) UTEH WYY (FET) HELI 1993

(4) TTEH GIETU (TEEIT) HE 2002

By which Amendment, payment of court fees while filing complaint under section 12 of
Consumer Protection Act is introduced.

(1) Consumer Protection (Amendment) Act 1986

(2) Consumer Protection (Amendment) Act 1990

(3) Consumer Protection (Amendment) Act 1993

(4) Consumer Protection (Amendment) Act 2002

HEAT HIUES AT /SPACE FOR ROUGH WORK
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27. T foeRETie AT S e WIS THo A
(a) T W& A
(b) ITHO-fERE st g@ qEEe
() YAY F JTAH Iq [EaT
(d) T famm 9 JemR fafidt

e ¥t wIvd! foaym axie] o1med ?
(1) W= (a) | () (@), (o) 3o (d)
(3)  (a), (b) ST (o) (4) (2 7 (o)

Role of the merchant banks in rural development is as follows :
(a) Provide help to credit societies.

(b) Rural planning and credit

(c) Provide direct and indirect credit

(d) Rural development and create employment

Which of the above statements are correct ?

(1) Only (a) (2)  (a) (c) and (d)
(3) (@) (b)and () (4) (a) and ()

28. ISl &7 A UaTe SheATe ATaTedl AST=A1 SVl MR 9T gl 2

(1) 3 () = @) T (4)
Ganja is obtained from which part of Cannabis Plant ?
(1) Root (2) Stem (3) TFlower (4) Leaf

29. TTEH WV SRAUSIAT WA AT LA 3R T SR TG o5 Iew &
__ e
@ 3w @) edu
(3) IR X qu (¢4) Tt FEE

Under Consumer Protection Act the order passed by the President of the state commission
sitting singly without junction of any other member is

(1) Valid (2) Invalid
(3) Valid to certain extent (4) None of the above

30. Wt - ICT = faoma Usgiavges (NME - ICT) 3R, A 716 _ + 3T + _ + 37 +_ + 37 3.
(1) 3,87 (2 9 & q B 4,89 4) 9871
I am the National Mission on Education through ICT (NME - ICT)
My nameis _+a+_+s+h+a+_
1 akr (2) skt 3) akt 4) s kr

AT HIATEIS ST /SPACE FOR ROUGH WORK
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31. Eio erg Fivt &t ? TodD To FH FOAEET TAE SaaE! The 7 U 9en 9R)
SANIE e A faraneafqn @ YA ST SuarEr g o .
(1) T T, 1992, (2) g Reafors R, 1986
(3) IS A, 1964 (4) YfeaR 3mm, 1952
Who recommended the following ?
‘Students should be allowed to learn as per their abilities, considering four continuous
standards as an unit and not examining them in each standard for minimizing the drop
out rate’.
(1) Ramamurti Commission, 1992. (2) National Policy of Education, 1986
(3) Kothari Commission, 1964 (4) Mudaliyar Commission, 1952
32, '@ § GEHHRE AT STHA 91 R WIGiGTR! BV R ?
(1) wfee=a sTfdew v 9 NN Jiaay.
2) Wi ITShAS HEA FHOL.
(3) TGS WIUF HERAST FETET 0.
(4) AT FHIOTIE L
‘Ujwala’ Yojana is a comprehensive scheme which aims at :
(1) Prevention of immoral exploitation and trade of women
(2) Assisting women in enterpreneurship
(3) Promoting computer literacy among women
(4) None of the above
33, (a) SN T =AAed 2002 WiF UH HRG A LI 0.

(b) R AT SYHER, AHEA faH TR, 45 TR A1 Gt HH FW.
(c) ITHUT A Ty AAGAE FHHS TR

TtH! FIU faur we o8 ?
1) (a), (b) T (c) TH 3. (2) WK (a) HF IR,
3)  (a) SN (b) TH AR, (4) Foiw! THE L
a) The International Criminal Court was established in 2002, under Rome Statute.

(
(
(b) The court deals with crimes like genocide, crime against humanity and war crimes.
(c) USA is a member of International Criminal Court

Which of the statements are true ?
(1) (a), (b) and (c) are true. (2) Only (a) is true.
(3) (a) and (b) are true. (4) None of the above

HEAT THIATETS | /SPACE FOR ROUGH WORK
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34. firl wEfEwTEe 7 o ?

(1) T g ) T E g amee = g

(3) T faemmamn wR 4) eform o "R

What does the term Gini Coefficient signify ?

(1) The proportion of poor (2) The gap between the rich and poor

(3) The status of economic development (4) The status of educational quality

35. WRAM® YW FeR SUMH oot hivE ST TS 8 e ?

(1) BRHT IS ST (2) Xfem sEm

(3) S SAfSUITET I 4) o T BHI B

Which one of the following is not included among the principal cottage industries
in India ?

(1) Handloom Industry (2) Silk Industry

(3) Glass Industry (4) Wool and woolen clothes

36. T IMEAM 2010 T ' FH Hitart Ao’ STHe U@, YRAT JqIi-1 7ed HuIEe! §&
Foedl A1 A qB 3Eea w2
(1) A gy st g3,
(2) IAH FETRL
3) wH frmdia HiewTe wes Sues w0
(4) SdEAEe e faerEr dre wH .

The state government introduced the ‘Krushi Sanjivani Scheme’ in the year 2010 to help
Indian farmers. What is the basic objective of this scheme ?

(1) Research and experimentation in the field of agriculture.

(2) To clear farmers debts

(3) To subsidise insecticides and make them easily available

(4) To minimise the burden of electricity bills on farmers

37. Iyfed S 9 SaX IR sfTemst sifafTem 2006 THR 30 7 2010 THd TeRMLE Sfeari
e freara aifaes a st (a7 k) F12Y Hvdm 377 ?
(1) ifgEr snfor Teferic (2) ggR ety i
3) Tl (4) wew sfor TFEUS
Which districts of Maharashtra have granted maximum forest land (forest rights) upto
30th June 2010 to the Scheduled Tribes as per the Scheduled Tribes and other traditional
forest dwellers Act 2006 ?
(1) Gondia and Gadchiroli (2) Chandrapur and Gondia
(3) Gadchiroli (4) Bhandara and Gadchiroli
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38. TeHTR LY R Riem Gedd @it geer fewmn w e s

(a) W TR (b) Wes Higero

(c) U HATTUNA VR ESLERTE

GIATHHRT FHIT T TS TR ?

(1) (b), (c) oI (d) (2)  (b) 3T (o)

(3)  (b) 3T (d) (4) 9 U R

In Lakshmibai National Institute of Physical Education, following P.G.Diploma courses

are conducted :

(a) Information Technology (b) Sports Coaching

(c) Sports Management (d) Sports Journalism

Which of the following options is correct ?

(1) (b), (c) and (d) (2) (b) and ()

(3) (b) and (d) (4) All are correct
39. W faEneai™ Tedte JHTOT YRATd e T Al wH SR,

(1) ™R 2) SR (3) 4) wEAY

state has achieved lowest school dropout rate in India.

(1) Maharashtra  (2) Uttar Pradesh (3) Kerala (4) Madhya Pradesh

40. THIHE TSR AT 0 d 6 TATRRISG SR d TRIGL AT SRS HIvcam arsll

e ST ?

(@) YE-THTHeR ey

(b) T SRR, ARG AIEO{ o STER
() TR AT Siue i

(d) st Fro

TSt wv faum/faum e e ?

(1) FHRIAT (2 @ATE) @) (@) O) M@ @) (b A()
What is provided under the Integrated child development scheme to the 0 to 6 years
children and pregnant women by Anganwadis ?

(a) pre-primary education.

(b) nutritious diet, health check-up and treatment.

(c) provide medicines to pregnant women.

(d) Eradication of superstition

Which of the above statements is/are correct ?
(1) All are correct (2) (a) and (b) (3) (), (b)and (c) (4) (b)and (c)
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41, TOE GHTIAIH! HIVKT HHTTT S THTAT Heheuioal TS ATE ?
1) FofawaR (2) TR (@) wfggEr (4 FER
Which concept of the following is not consistent with the forms of Primitive religions ?
(1) Totemism (2) Fetishism (3) Zoroastrianism (4) Animism
42, GERE! SV HET YT YA S YRIGO OR0, FHRiwH, e s w6 ggwH
et HH H ?
(1) ¥Ra QFaeT aftdt (2) 9RG qAEET UREg
(3) YRA THeEH €Y (4) ST S0 U g
Which is the Government agency working for regulating the training policies and
programmes, standardization of professional education in the field of rehabilitation of
persons with disabilities ?
(1) Rehabilitation Committee of India (2) Rehabilitation Council of India
(3) Rehabilitation Consortium of India (4) National Institute of Social Defence
43. UOtelH! R f9UE v faem wEe’ o] Isd w2
(a) T ST o Fiw feen (b) wrEfxE I feeror fassat
() YR THII HHT HI0 (d) STl A
i IW
(1) % (b) (2) (a) 3T (b)
(¢) =o wd (4) e (d)
Which of these is not part of the Millennium Development Goal ?
(a) Eradicate poverty and hunger (b) Achieve Universal Higher Education
(c) Reduce child mortality (d) Improve maternal health
Answer Options :
(1)  Only (b) (2)  Both (a) and (b)
(3) All above (4) Only (d)
44. 99 99 TS FeBIqA Rl TN AT ST 2
(1) &1 9uia 60 SeX it (2) eI 9ufd 600 BreT o
(3) UH AW 1200 B WO (4) T F9Id 6000 BT qroit

How much water does a dripping tap waste ? : '
(1) 60 litres of water in a year (2) 600 litres of water in a year
(3) 1200 litres of water in a year (4) 6000 litres of water in a year
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45. HHd! FRTAT SMfas JRIATEN™ Yfafdsd Yea ToTeRedie Teiots] SIvEr e 9S00
TR ?
(1) YYd Tk 9 M
(2) | 9 HEEiS q
(3) TSYd TFF 9 ANIGHH qd
(4) M, YA Tk 9 ATicY® ad

Universal Declaration of human rights are reflected in which of the following parts of
Indian Constitution ?
(1) Fundamental rights and Preamble

(2) Preamble and Directive principles
(3) Fundamental rights and Directive principles
(4) Preamble, Fundamental rights and Directive principles
46. IwRIE Vgl RIS ¢
(@) SHTIT AREAT U, Y 59 9 o R 3Afbeh 3T, Shd e g dord el o FIed aX
FEESH A,

(b) WRATEREAT ¥ 9 G I HH B TR DU Y T€9 AN &5 37,
(c) ST UREA! SIME HHl 1 T ShEEA Vg T8 & Hl.

TS RV STTFAT eI TR 2
(1) (a) 7T (b) (2)  (b) 3T (o)
(3) (a) 3T (¢) 4) =07 SR T 3 L

Consider the following cases of population pyramid :

(a) The population pyramid of a country like Kenya where birth and death rates are
high is narrow at the base and rapidly broadens towards the top.

(b) In countries like India where the death rates are decreasing the pyramid is broad in
the younger age groups.

() In countries like Japan low birth rates make the pyramid broad at the base.

Which picturization is incorrect ?

(1) () and (b) (2) (b)and (0)

(3) (a) and (c) (4) None of the above

47, AT IREE d99F IR SrEid Goiets! HIvRAT STATHHATET THEY el ?

(1) ITASE wa 2) Ty oo

(3) EEA fago (4) st fre

All India council of Technical Education does not cover which of the following courses ?
(1) Applied Arts (2) Teacher Education

(3) Management Education (4) Engineering Education
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48. 'HUIR TCURS MIAHATE FIGIHT Ao’ Fad STIGHIT WAt 9 g GOSTS HHS
GAGIH! HIUH! Wed Hel 1 ?
(1) vdEE ST (2) = e
@) A= (4) werdt gfeen
What is provided to the Scheduled Castes and Buddhists under the ‘Karmvir Dadasaheb
. Gaikwad empowerment scheme’ ?
(1) Land for agriculture (2) Higher education
(3) Employment (4) Travelling facility
49. WUSHNI® Jahial WU WISTGIh! iVl STeiei Fefed 31e ?
(a) THAHE T (b) TS YR
(c) TS Greerdt (d) =TT feuwa
FUSTH FHIORT oo FUE TR ?
(1) (b 3T (c) T (2) (a) 1) Tt
(@) () wx 4) () B
Participation of youth in Community is associated with :
(a) Behaviourial Change (b) Behaviourial Correction
(c) Behaviourial Well-being (d) Behaviourial Stability
Which of the above is/are correct ?
(1) (b) and (c) only (2) (a) and (d) only
(3) (d) only (4) (c) only
50. WIAHE TE WU FZaTd AU Fishddie Hed TOeyHm 3R

(a) IR T |eE

(b) TATHH FUIAM 9 ey fehfaa

(c) Tafire Sfge @rea #30

(d) wfxme fawmms Jem

WIOBUH! IV TAT TSR TR ?

(1) (b) =T (d) (2) (), (T (d) (B) (a), (b) A (d) (4) T AR M.
What is the significance of a family as a primary group in socialization ?
(a) Means of social control

(b) Mental security and sustaining health

(c) To achieve specific goals

(d) Contribution in personality development

Which of the following option is correct ?
(1) (b) and (d) (2) (), (c)and (d) (3) (a), (b)and (d) (4) All are correct
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51. WG GLhIAT S GRat e siaia  Fre sryelia ' (To-W-ww) onfon ' = wrefvefifa
T (CI-1-19) ol Tt favrmn Fod omR. e sriyelis ' deula qeietet
HIVET 37ef ST ?

(1) TIER IO HH IS T4

(2) WEl INESIS Goie 96 HHl AaT T
(@) sId@mYe Tt wH THee!

(4) S e At sTHeer T

Under the Janani Suraksha Yojana of the Government of India ; the states are classified
into Low Performing States (L-P-S) and High Performing States (H-P-S). What does the
phrase ‘Low-Performing-States” primarily imply ?

(1) States with low per capita income

(2) States with low population of children of less than six years
(3) States with low rate of institutional deliveries
(4) States with high rate of maternal mortality

52. G A9 FAF 12 IUHGE N F¥He! G2 WIGo TR HI0AT TR ST Iat ?
1) " @) w9 3) fas @) wh

Which of the following Rashis the sun pertains to when Khumbhmela event at Nasik
which comes after every 12 years is held ?

(1) Capricorn (2) Aries (3) Leo (4) Cancer

53. NPEGEL =1 3W& afyreamis! sl aftmed -
(a) WSTen Faft famme g4
(b) EEEE o7 e wrered g
Tl W
(1) o (a) TSR SR, (2) T (b) SRS 3T,
(3) (a) T (b) A T ARE. (4)  (a) SV (b) T=TET IF A4
Few of the many unique features of NPEGEL are :
(a)  Scope for all round development of girls

(b) Vocational and life-skill education

Answer Options :
(1) Only (a) is correct. (2) Only (b) is correct.
(3) (a) and (b) both are correct. (4) (a) and (b) both are wrong.
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54. HTY HOH 43 (c) :
(a) TR HTEAIANIG FEWTT= STTHHR
(b) ARFIGRR UsTR fHevarn sifaeR
(c) HHM H FHM
(d) arsrEt SEATET STfHEmR

ot SW
(1) (a) 3T (b) () (b) S (0)
(3)  (a) ¥ (d) (4) (a) K

Constitutional Article 43 (c) :

(a) Provides right to participate in Management to a labourer.
(b) Right to work in healthy atmosphere.

(c) Equal pay for equal work.

(d) Right to reasonable wages.

Answer Options :

(1) (a) and (b) (2) (b) and (0)

(3) (a) and (d) (4) () only

55. T WD WA i USIE, THATN, Hies, TR=M 7w, Ayl 9 diHeg IRed] T Tst Hf
SN 377 ?

A1 T § HH T HD ?

S o,

(a) 9T, BTN () SHFH AE I

(b) F@ (i) ST U A

(c) Ui¥=m M (iti) AT HHIEA foae

(d) Y, affeTg (iv) YO G ¥R S o

@ () () ()
M O @ @
(2) () () @) (i)
3 @ (v) () (i)
@ @ @) @) ()
It is said that the poverty has declined in the states like Punjab, Haryana, Kerala, West
Bengal and Andhra, Tamil Nadu.
How have these states accomplished this feat :
Match the following pairs :

(a) Punjab, Haryana (i)  High agricultural growth rate

(b) Kerala (i) Land reform measures

(c) West Bengal (i) Human resource development

(d) Andhra, Tamil Nadu (iv) Efficient public distribution of food grains

(@) (b) () (d)

(1@ ) (v) (i)
(2) () () (@) (iv)
(3) @  Gv) () (i)
@ @ @) (@) (i
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56. ARULY Afget f HRAEA aFvaE 341 ?
1) 1975 (2) 1980 (3) 1985 (4) 1990
From which year International women'’s day is being observed ?
1) 1975 () 1980 (3) 1985 (4) 1990
57. ‘3= foeomet W gueE 9’ @ e favg RIRECIEERIE LI
(1) wHraea (2) dAr1B=AT (3) <= (4) TR
‘Inclusive Growth of Higher Education” was the broad agenda of Five Year
Plan :
(1) Seventh (2) Eighth (3) Tenth (4) Eleventh
58. g foadiarearafiarrean, 3= fReor <or= gy, 91 faf¥re &51a 3= gsii™ HH FHLaK o &n
TR S, =1 geean T WU A=A 94
1) S o (2) T @ foaaTdte
(3) erfyAq foedis 4) T faamds

An Institution of Higher Education other than universities working at a very high standard
in specific area of study, can be declared by the Central Government on the advice of the
UGC as an Institution

(1) Central University . (2) State Private University
(3) Deemed University (4) State University
59. WERMSZE WRAKS Faiqaiol WeeAT HI0E] TR ?
1) THTAL (2) 4T ITEELTE.
(3) I TA3THHL. 4) I TA.TAHITE
Which is the largest UN organization in India ?
(1) FAO. (2) UNAILDS. (3) UNESCO. (4) UN.ICEF.
60. <tz oo qurer 9@ HEEA (TEQIP) I ™ et fea.
(1) STds 9% ) gHEw (3) AR (4) syl
Technical Education Quality Improvement Programme (TEQIP) is funded by _
(1) World Bank (2) UNICEF (3) UNESCO 4) WTO
61. 30 e U 3w Hew TEeRe JdTe FRHAS AY AfIas AEIERAT SgTE 9 9@

TRTEI0T SUATT YHR SUATH AT T FROAT 3T T,

1 WL I RV ST foream STt Surfent Heen s ?

1) &I (2) eTHdH (3) TS (4) SUH

The Indira Gandhi Rashtriya Uddan Academy has been set up at Fursatganj Raebaraeli
to bring about a quantum improvement in the standards of flying and ground training of
commercial pilots.

IGRUA is managed by the Global Aviation giant from :
(1) Canada (2) USA (3) UK (4) Japan
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62. JFEE = AI SNIE ISR SISt 9aiq Hgwarat d HRo Hiowt ?
(1) FfeE, IfduRr, TgH (2) =gEifE, afaar, Aot
(@) wfdEr, TeE, 7ot 4) faER, <A, s
According to UNICEF, the three leading causes of child deaths globally remain :

(1) Kwashiorkar, diarrhoea, AIDS (2) Pneumonia, diarrhoea, malaria

(3) Diarrhoea, AIDS, malaria (4) Diarrhoea, pneumonia, kwashiorkar

63. ® 2008 It TATTT AT ST I TG ST gfad s, Jgfaa S
TS 14 3 18 98 JATere dfew Areafs faeaeardie yasmg it w0 fawma: s
Tt VIII 93 il siesn o1Ra o fRreror Sievare w9 yHIO w0 a9y 18 99 Sargd=a @
e freroma fesme Jat w1 o1k,

(1) Ta At e sfiam (2) T T
(3) foreirraeen foemor s (4) TTdHT FIUAET AR

To promote enrolment of girl child from S.C. and S.T. communities in the age group of

14 - 18 years at secondary stage, especially those who passed class VIII and to encourage

the secondary education of such girls, to reduce their drop out rate and to retain them in

the section upto the age of 18 years with this objective of centrally sponsered scheme
was launched in May 2008.

(1) Rashtriya Madhyamik Shiksha Abhiyan (2) Girls’ Hostel

(3) Adolescence Education Programme (4) None of these

64. ITHT TG INETS TRV oK THEd I @ 3fee Hivrd ?
(1) R0 o AHoTl I Iod G G 7Sy FEA QUL
(2) WATTHEITEI WE SUd B UG HEA QUL
(3) ofcard Fev-qevia faare TRfehia H& Q0.
(4) VT S foaewEaT=n Y& yamen v @Y yrw wE Q0.

What is the basic objective of the government sponsored Yashawantrao Chavan Free Stay
Scheme (Mukta Vasahat Yojana) ?

(1) To provide opportunities of higher education to working youth
(2) To provide housing at reasonable rates to members of backward classes
(3) To arrange community weddings for tribal youth

(4) To incorporate nomadic tribes in the main stream by providing them stability
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65. Vs WA w e 9r Wyl fie ¥R, faaoed, 9 oW, gu@ oA 9 sifgfea o)
WY ST STBIRATR Wbl FA S &S RV Tehte 3T 2
(1) fo=esT - T (2) %9 A - "
() 9ITE AT - Afwfow wSv (4) sigfead - Jafife st
Four Championships together make Grand Slam Tennis Tournamment, Wimbledon, French

Open, U.S.Open and Australian Open ! The surface on which these tournaments are
played are given below. Which among them is incorrect ?

(1) Wimbledon - Grass. (2) French Open - Clay

(3) US. Open - Acrylic Hard (4) Australian - Natural Hard
66, IS TRA I UROEE _ Ii= e FEAuams! i .

(1) FSE. 9 ey (2) WRAT™ UegEt

() W THTESR 3 Fwg/dued (4) TEARE. ¥ 6 Ay

The National Institute of Technology Council works directly under the control of

(1) Chairman of UGC (2) President of India
(3) Director of CSSR (4) Minister of HRD

67. I Fa THEAM HIVAT S TEAH FHS[A U AW W ?

(a) dfFw WS (b) HEHTHRY TS

(c) Temroiga W (d) ST W

TSR H faum/faum sSET 1R ?

1) (a) AU (d) e 2) (o) %=

(3) (b) 4) (a), (b) 37U (d) we

The child is judged and treated in the family largely in terms of :

(a) Universalisitc standards (b) General Standards

(¢) Particularistic standards (d) Informal Standards

Which of the statements given above is/are correct ?

(1) (a) and (d) only (2) (c) only

(3) (b) only (4) (a), (b) and (d) only
68. HREHI UIh® TUHE! §hY STER UM ' HRrE He’ FIH1 1975 TIot vl G& hol 2

(1) RN A ' (2) fsa gt sTfim

(3) TH® Y9 (4) om0 T Tiwg

Who started the ‘Kashtachi Bhakar’ Scheme in 1975 to provide wholesome food at
affordable prices to the toiling masses ?

(1) Govt. of Maharashtra (2) Shoshit Mukti Abhiyaan

(3) Hamal Panchayat (4) Nivara Hakka Parishad
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69. T T GETSAT Afushd TN A1 R ¢
(@) s b) = () ofew (@) FeR () drgS
AR IW
(1)  (a) A (b) FH (2)  (a), (b) = ()
(3) (@), (b), (0) = (d) (4) TR
The official languages used in the UN are :
(a) English  (b) French (c) Arabic (d) Chinese (e) Portuguese
Answer Options :

(1) (a) and (b) (2) (a), (b) and ()
(3) {a), (b), (c) and (d) (4) All the mentioned
70. HARE STALT TMeR §ued HIAME! AT HIEGAT HIdd ___® gEe
T IS,
(1) IS I AR (2) THY TTE HEA
() o T SE Thd (4) T HEWH IAME JFHITH
During the second world war organization was established to organize the
workers on international level.
(1) International Labour Organization (2) Workers World Forum
(3) World Union of Workers (4) World Federation of Unions

71. 2011 A1 SATURTER HERISTET HI&RAT KL 8 <9l Uadl Qe SR STg STifo] |iaRd=a1 sredia

1) fgd= ) T @) =qd 4) d=M
Maharashtra’s literacy rate is higher than the national average and is highest
among the states in the country as per census 2011.

(1) Second (2) Third (3) Fourth (4) Fifth

72. 3T o Hetsamt SfEar= SiaTaM YRRt 37 A1 TafaedT A, Weiausht
IR A1 Fia Sqie 3T ?

(a) UHMYHR Tad W& AT (b) W HSt Al
(c)  TIOT TR GG Al (d) wmam RISk
(1) (), (b) 3T (o) (2)  (b), (c) 30T ()

(3)  (a), (c) 37T (d) 4)  (a) (b) =nfT (d)

Tribal Development Corporation has introduced several schemes in order to improve the
life style of tribals. Which schemes are covered under this programme ?

(a) Ekadhikar Gawat Kharedi Yojana (b) Khawati Karja Yojana

(c) Gaun Vanotpadan Kharedi Yojana (d) Sadbhavana Yojana

(1) (a), (b) and (c) (2)  (b), (c) and (d)

(3) (@) () and (d) 4)  (a), (b) and (d)
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73. TS WUH T HAeHe q B,
(1) HASHe SEBIHS HY
2) Hexrug ured w37 I A
(3) U AUz G 37 HAwHe
4) Ul 9D SIRTS IR WA 37 TAwHe
The Fellow Programme in Management is a
(1) Management Development Course

(2) Advanced Master’s Course in Public Management
(3) Post Graduate Programme in Management
(4)

Full time Doctoral Level Programme in Management

74. VRO Yl SETEHT Ao TRAE! TSad ST ST9T S ; HR

(a) faayTcHes SFTSIUIREA H-HIET

(b) T FRISHITIRT 31- Gl

(c) THHT T FO@

(d) YUI-FAT YRT& IR 7-HE0

FStE! HvR faum/faam atE] 3ma ?

(1) (a) 3T (b) 2) (@) ®H
3)  (a), (b) 3T (c) 4) (@ wx

Millions of children die and get disabled every year in India due to :
(a) No prevention against diseases

(b) No prevention against malnutrition

(c) No immunisation

(d) No prevention against foeticide

Which of the statements given above is/are correct ?
(1) (a) and (b) only (2) (a) only
(3) (), (b) and (c) only (4) () only
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75. HYSTO o3l HHART (SRMS) TG WEUSIR ArSi=1 hid Ie¥1 18 7
(1) THNS Wosal FHAN ST A TG FTHR=e! Jefha |a.
(2) TS WEsdl FHAR A AT TG ST ATEIE! Hhd e
(3) TS T=eTe Weoodl FHAR A1 AR TSI STHIE TTHHT
(4) TRTE WAl FHAN A AR AT I Wit HIFd 37 G
What is the objective of Self Employment Scheme for Rehabilitation of Manual Scavengers’
(SRMS) ?
(1) Medical care for Manual Scavengers and their dependants
(2) Free Housing for Manual Scavengers and their dependants
(3) Rehabilitate remaining Manual Scavengers and their dependants
(4) Provision for free food for Manual Scavengers and their dependants

76. afits soe FeamomE SeeRr g6l %8 e Hiol ks gl 2

1 FR (2) HIA ¥

@) T’ (4) T fam

Responsibility of natural disaster management was earlier held by . department
of the Central Government.

(1) Agriculture (2) Human Resources

(3) Home (4) Rural Development

77. (a) Trio wra sifimm siwfa 2022 Femd oo yrde w6 W[ daed SR 3fge
.
(b) &AM Fla THIVT YRS el T STTvTETeaTd YrTedisn Giasn [avar JuR STRA.
(¢) & A JTEl HHGESau FIO G e T RERR Suam A4,
FTIh! FIR UM W 3R ?

(1) Tt 7d v oA 2) (a) ST (b) W TR
3) () T () T MR 4) alodtw! wwe T
(a) Nirmal Bharat Abhiyaan aims to provide sanitation for all rural household by 2022

b) The scheme covers construction of toilets in schools and Anganwadis in rural areas.

N S

c) Nirmal Gram Puraskars are given only to sarpanch for effective implementation of

the scheme.
Which of the statements are true ?
(1) All are correct (2) (a) and (b) are correct
(3) (a) and (c) are correct (4) None of the above
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78. Wote ool faumT=ar oy y=sre g,
(a) &R HRIHATRRET Fer-seaaT a8 gfirern aifges Tar .
(b)  SUHEATRIET AT 1870 F e fam.

| W (i) | T (i)

1) @O @) () 3 (2) @) TH. (i) TH. (iii) 3T
@) @O @) () = (4) arie! RV A
Solve the following cross word with the help of given statements :

(a) Preparation of teaching, learning and training material for Adult Education
Programme.

(b) Vocational Education and Skill Development of Minorities.

@)
R
N [ M| )| M | (i)

(1) @S (i) C. (i) E. 2y @M. (@)S. (i)l
(3) @ T. (i) N. (i) C. (4) None of these

79. YNAMIG 9IS HMe JEId: Y Hafed e ?

(a) To f&aH T (b) Toid dTR T

(c) MR HHS T (d) Hor=n T SHY gfaay
Tt SR faem/ faum sRisR oRa ?

(1)  (a) 3T (c) T (2)  (b) 3TfoT (d) e

(3) (@), (b) 3N () FF @) (a), (), () =1 (d)

What do the Indian Laws pertaining to children mainly deal with ?

(a) Minimum age of children (b) Medical examination of children

(¢) Maximum hours of work (d) Prohibiting children from working in the night
Which of the statement given above is/are correct ?

(1) (a) and (c) only (2) (b)and (d) only

(3) (a), (b) and (c) only 4 (@, (b), (c) and (d)
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80. AWT SIS Bl ¢
(a) ST T FHAT §H
(AUCW)
(b) EIR U W e T
ALY o1 ey faedt
(UNICEF)
(c) YR o e aReg
(ICCW)
(d) SO 9 99 (IYC) WRd
(@ ) (@ (@
1 @) @ @) @)
2) vy . @) @) @)
@) @) @) @ W)
4 @ @@ @Gv) (@)

Match the following :

(a)

(b)

(©)
(d)

(1)
(2)
(3)
(4)

International Union for
Child Welfare (AUCW)

United Nations’ Childrens
Fund/United Nations

International Child Education
Fund (UNICEF)

Indian Council for Child
Welfare (ICCW)

International Year Of the

Child (IYC) India

(a)
(iid)
(iv)
(i)
)

(b)
@

(i)
(i)
(i)

(<)
(iv)
(i)
@)
(

iv)

-

(d)
(i)
(1)

(iv)
(i)

31

i

(iv)

(i)

(1)
(iv)

UuO2

T T e d<aT=a] Jediell 9d Sd
H=gar a0

Sfaq qama dEre

T FHITUNeT qed] <uardres! fafay asm
g Ge foha YEER yoe 7 fean
Hedien 3Ty w0

to promote recognition throughout the
world of the principles of declaration of
the rights of child

Reaching the deprived child

to help the children in adversities and to
prepare them for life

to initiate action or aid directly or through
branches or affiliated bodies for
furtherance of child welfare

oA HIWETE! ST /SPACE FOR ROUGH WORK

P.T.O.



U0O2

81.

32 A

AR ToATd &1 =19 ARl SO 3R, AER I Ife0 916 <I-ed 3 0T He
e ?

(1) Yeufmd @ ™ (3) 'L (4) T
‘Tuvenile Justice Act’ is being implemented in the state of Maharashtra. In accordance
with its provisions where is the first Juvenile court established ?

(1) Ratnagiri (2) Pune (3) Dahanu (4) Nashik
82. faerlt oz fawenfua Srom=a Tiei=an YeAER SV B4 Tamed qg fafor smet o ?
(1) FRRTE-TSRE . (2) HERTSZ-TET
(3) HERT-STguRY (4) TRNI-FARH
Which two states are in conflicting relationship due to the people getting displaced because
of the construction of tilari reservoir ?
(1) Maharashtra - Gujarat (2) Maharashtra - Goa
(3) Maharashtra - Andra Pradesh  (4) Maharashtra - Karnataka
83. WG TR T 3-89 HTAHT Saia 3T FIeT Eiad o, WISISUeh! ot FrsHT a1
FRFHE | TR ?
(1) Wz 9IRS AR AT+
() T giEg g
(3) Wz A X
(4) I-FTHEIA THOS He R
The Indian Government has initiated several schemes under the National E-governance
plan. Which scheme of the following is not a part of this programme ?
(1) State Wide Area Network
(2) Common Service Centre
(3) State Data Centre
(4) E - Information Technology and Communication
84. 1 HeATl e fafay arfari=n R @M HU@HE 1@ AFIeI &% 4d ?

(a) & Fal (b)  SHR HaT

(c) AR e (d) wfrEurTs Ja
g

(1) (a) v (2) (b) s (d) W
3) (b)®x 4) (a) 3nfr (c) T

Child welfare services are variously categorised. Which amongst these include Child
Guidance clinics ?

(a) Supplementary Services , (b) Supportive Services
(c) Substitute Services (d) Preventive Services
Options :

(1) (a) only (2) (b) and (d) only

(3) (b)only (4) (a) and (c) only
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85. Tufgoraeg SH TATERET FUE FS% HIUAHIA 0O AR 991 A= sTedrer
TA@iHt B TERY sfasa T,
(1) vorhRIe FRi s qvarl @™ Tqg S,
(2) ToTe &1 WAA TRT IXGH AIS! HSh 18T e,
(3) FORHFITE THRH THAM fohal TR AR G0 FHI0I=T TGQ T4,
(4) FORENA TEAHE! e Hiedrd AHER/WRERAl {1 T sefauary s1ur 3t

Which of the following recommendations were not a part of report of Justice Verma
Committee appointed for making stringent provisions for sexual atrocities against
women ?

(1) A special provision to impose death penality upon the rapist.

(2) Stalking should be made an independent offence and stringent punishment should
be provided for the same.

(3) There should not be any provision for castrification of rapist by chemical means or
otherwise.

(4) Elected representative should be dlsquahﬁed from contesting the election if they are
punished for the crime of rape.

86. 1994 WL AWEI, AL faeft SR HAred FSH TAR FI0AR HfS ?
1) wfeeiate SR ST (2) STRUET TR e
(3) M o I (4) TR YT

In 1994 for what the International Legal Commission was asked to prepare constitution
by the General Assembly ?

(1) Injustice on women (2) International court for criminals/crime
(3) Exploitation of Children (4) Exploitation of workers

87. RIS AU oiesl Saekil Sier ?

NCERT = ®<& Tshh TR0 :
3 El Ed T
T3, AR 3., s, RiRtcsRics s iC DR oA
1 & 2 = 3) & 4) T

Spot the odd man out :
The major Constituent Units of the NCERT are :

A B C D
NIE, RIE, NCTE, PSSCIVE
D A (2) B 3 C 4) D
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88. TENI VG g WEATSA TS Aiee SRRTIHTO T4 AigwT STRITT T el 3R, Grotede!
RV TS T Afge SR STadd 0o 374 2
(a) Tt U Ta el AR,
(b) A= TUAT 2001 HE FE
(c) Tergrea fafay waegi=n S99 & Afgeauas YR YA TAIMHAY H7ed H! g
SIS 1 3T1R.
(d) difeq feaaiT TAMENfoES Be SUATHIET AFIRY Y0 § STTarT %14 37,
Tt I
1) (), © @MW) @) ()3 () @) () O) () (@) (), b))
The Maharashtra Government has established the Maharashtra Womens ‘Commission in

line with the National Womens’ ‘Commission designed by the Central Government. Which

of the following conditions are true about the State Commission ?

(@) It is an autonomous body.

(b) It was established in 2001.

(c) Ithasbeen entrusted with the task of reviewing the various problems faced by women
in order to assist the state government to design the policy for women.

(d) It's function is to guide victimised women to fight against injustice.

Answer Options :

(1) (@) (and(d) () (b)(and(d) () (a), (B)and(d) (4) (a) (b)and ()

89. ‘TR WIS AT ITH FHIE] TSATHER 7 7

(1) g gem ) sfwars (3) dfHesrg (4) enfewm

Name the state in which the Mid-day Meal scheme originated :

(1) Andhra Pradesh (2) Chhattisgarh  (3) Tamil Nadu (4) Odisha
90. T g W WIS Sitfarq STHmE Yo IEoAT HidEt SE.

(1) 1,000 (2) 10,000 (3) 1,00,000 (4) 10,00,000

Maternal Mortality Ratio is defined as the number of Maternal deaths per

live births.

(1) 1,000 (2) 10,000 (3) 1,00,000 (4) 10,00,000

91. T TP HII 2006 = ARSIV T WH[EH AGHIGR IV FHIOAT MG A i 2
(1) = fagt () delwa
(3) TSN dgh 4) ERCE
Name the village which pioneered implementation of Forests Rights Act of 2006 through
community ownership ?

(1) Ralegan Siddhi (2) Mendha lekha
(3) Aadgaon Budruk (4) Kinvat
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92. RIS HIV faum g R ?
(1) frieer 7ene fFe arad
) fediweR g8 aead
(3) #HT IS TR BRI BEEE TR
(4) ST 71 TR YT fadesfaguen Iy arIeA 9T Heva I,

Which amongst the following statements is not correct ?

(1) Pisciculture is rearing of silk worms.
2
3
(4

) Viticulture is cultivation of grapes.
) Jhumming is the shifting cultivation of the North-East.
)

Smelting is the process in which metals are extracted from their ores by heating
beyond the melting point.

93, JEig TR FRIE, 1971 THR 18 IS HIVETE el TSI 20 Aeasdidd Qoo
FRUe THIE HLar It ?
(a) WO M SF O STHeA™ N WY FZa Mihgsedr ST Yore! Hiesel Huard
& THCIH.
(b) SR o TR/ AAfa® A1 AfwE JHo THUITE! SRl STHed™
(©) Fa-TrEeH=R TR TavE! St
(d) TTURIUTe Sie R/ AFTaE STRvEER R aRemaTEt R ST
TSR Ara g fraer
1) @ O () 2 ©) W@ 3) (a) () A (@) 4) (a), (b) 3 (c)

According to the Medical Termination of Pregnancy Act, 1971 a woman above 18 years is
allowed to terminate her pregnancy within the first twenty weeks for following reasons.

(a) A woman already has two children and her family members are financially incapable
of looking after the new born baby.

(b) There is a possibility of the baby being born as severely weak physically/
psychologically.

(c) The pregnancy is the result of failed contraception

(d) There is a possibility of the pregnancy negatively impacting mother’s physical/
psychological health.

Select the correct option given below :
(1) (@) () and (@) (2) ) (and(d) @3) (@) (and(d) @) () (b)and()
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36 A

ISR Tfavieal qEie ST JeHhies ugH a4 ?
(a) STrEeRTor YT AP

(b) TIUESRY T WykHTEAHTET T

(c) Thawa sufor dusit

(d) = 3nfor TRvimA
TSR IV TATT SRS 3R 7
(1) (a) 3TMT (b) 2) () ()3T (d) (3) FH (b) (4) o

Which of the following factors are responsible for social mobility ?

(@) Industrialization and urbanization

(b) Development of transportation and mass media

(¢) Income and wealth

(d) Power and standard of living

Which of the above options is/are correct ?

(1) (a) and (b) (2) (), (c)and (d) (3) Only (b) (4) All are correct

95.

AR VAT S8 ANTRaIaTed o1 1.10.2013 TS SRR Fosedl 6 GRVIEEd H @

&L ?

(a) ST SN SATTae SAs3 MiE feaam siifac | Fe A,

(b) ST S MU SME-TAfSHaT WIS BN AR I Tid SRR HS! SIS,

() TF T SIS ANIRHal G s & LS.

(d) SRTHHE HEAH T JHIHH =0 HO.

(€) S "TResiear Teshr! g Frmio weeartn sifirer wdes Jvama e,

() F=5 TEHR 65 IUFUST SIS TS T

(g) TR IMEF 60 THERIS ANHIA SUS TRUM.

1) ® () 2)  (e) (). () @) (a) (4)  (d) 37T (e)

What is not true about the new resolve of the Maharashtra Govt. made on 1.10.2013

regarding senior citizens ?

(@) The announcement was made on the occasion of the World Senior Citizens Day !

(b) The names of the children who do not look after their parents would be made public.

() The state will start counselling centres for elderly people.

(d) The state would also set-up old age homes along with NGOs.

(e) Cooperative Housing Societies of the senior citizens shall be awarded additional
FSI.

(f) Central Govt. regards those above 65 as senior citizens.
() Maharashtra Govt. treats those above 60 as senior citizens.

1) @ (& 2) (e ®) (g 3y (@ (4)  (d) and (¢)
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96. Tferk fohan &fia srETHSE FHfor Soar TEeTH! FHI0K HRI S 2
(1) w_umEn ST fasE (2) TS THEHIS e
(@) favmrdie SRen ArTETn (4) TeUTe FRERAS Tl
The causative factor for Regional Disharmony is :
(1) Unequal development of the regions. (2) Threat to national integrity.
(3) Backwardness of people in the region. (4) Illiteracy predominant in the region.
97. 3 TRl 2012-13 =41 Hewld Toeus! HIvR faum/faum siie 2R/ 3 ?
(a) TERTE foaia TR TEue S ST,
(b) TIHEIEIET HERISHE e Tog T K AR,
(c) TIfETgUan HENIgM Yo &1 FH! 3.
TR W
1) (@), O) () () (@) (b) (3)  (b) S (c) @) (o) (a)
With reference to the Economic Survey 2012-13 state which statements is/are true ?
(a) Life expectancy is more in females than in males in Maharashtra.
(b) Infant Mortality Rate is more in Maharashtra than in Tamil Nadu
(c) Death Rate in Maharashtra less is than in Tamil Nadu
Answer Options :
(1) (@), (b and () (2) (a)and (b) (3) (b) and (o) (4) () and ()
98, TS 9 I 3T SATHFHAMEN U Th! 9 Hoio &0 g T fomie goen gosiol st STeft e
T wom I HFATSES HI0A T Bl
(1) g e wfd (2) & Aga S
(3) . (Fwdl) O] a1 widt (4) & wxo gihdt
The need of undifferentiated curricula for both boys and girls and necessity to treat
education for girls as a special problem was suggested first in the Report of
(1) Durgabai Deshmukh Committee (2) Hansa Mehta Committee
(3) Dr. (smt) Phulrenu Guha Committee (4) Raksha Saran Committee
99. YN K WL HISg! T INEgT WSl MEM (ST Bus) ToH HIAEE! Faredt

Wi ol ek Herea feet S ?

(1) 50% (2) 25% (3) 75% 4) 60%

How much percent discount in travelling is given to disabled persons while travelling in
MSRTC (ST Bus) ?

(1) 50% (2) 25% 3) 75% 4) 60%
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100. TTSSUHRT HIVET W IS -A SRS TN TS T T YT Bl ?
(1) ToFo 9o offafmn 2) TWI .
(@) EftiE fem g (4) O A Yoo TOM HHAT (TRT)
Which one of the following is a genetic disorder inherited by the patient from the
parents ?
(1) Sickle cell anaemia (2) Heart disease
- (3) Kidney Failure (4) Iron deficiency anaemia
101. A1 3 IRTSaa faera A= U SrishHr= Wie feoedr Sfepitent wivid 3few sreqammaiA
3T ?

(a) TR Hho faREMET Gl ygH F0.
(b) UK THHISR W

(c) iUy gfewa g w0l
(d) TEue T qEaERyia AMfedt WieR fafo swoamEEt TeneE, ThRE A1 SHe Qo

Wﬁ:
(1) % (a), (b) M (c) (2) W (b), (c) A (d)
3) @) () () (4) wlowd

Which of the objectives given below are part of the short term objectives of the National
Programme for Youth and Adolescent Development Scheme ?

(a) Provide opportunity for holistic development of youth.

(b) Promote national integration

(c) Strengthen their secular outlook

(d) Encourage research and publication to develop data base on issues concerning youth.
Answer Options :

(1)  Only (a), (b) and (c) (2)  Only (b), (c) and (d)
(3) (@), (c), (d) (4) All the above

102. 9 i faen
USIERCIRCAR RN E |

(a) EEIE HIFIRIAT THARBT

(b) 9 AN Tidte foeneatarct

() Te T We, N.ua. Sl demyaemet

(d) ogfed St 9 SwTdde faareaiae! T wle. f.ue dl smeaeet

(1) (a) 3 (b) (2) (d) ®x (3) (a) S (c) 4) (b) B
Choose correct option :

Rajiv Gandhi National Fellowship :

(a) Children of Garbage Cleaners.

(b) For all students of backward classes

(¢) For M.Phil, Ph.D.Research abroad.

(d) To students of Scheduled Caste and Scheduled Tribes for M.Phil, Ph.D.Research.
(1) @and(b)  (2) (d)only (3) @and()  (4) 4b)only
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- 103. T AT WISIG Tehed ATIcyieh defaR Sl qlqae qroarEt feam e fhdt o1 2
(1) 40 X (2) 60 B (3) 65 B (4) 50 B
Under national rural drinking water project guidelines what is the minimum need of
water per capita per day ?
(1) 40 Litres _ (2) 60 Litres (3) 65 Litres (4) 50 Litres
104, TA.9.3.51.8 ve. FriwamE! e Hivwd 2
(a) VeIt gt o fommar &t ol
(b) e &= qot oo Aigei=n arecn HEwWrTE! STt Sl
(c) Tererom=a S GURom.
(d) TSI Qe oTaE! wien femen Sl STt wafd ssiet W)
TSI HIU FauM T 38 2
(1) (a) 3T (b) SRR TR (2) (b) M () SIS 3T,
(3)  (c) 3T (d) S 37l (4) @ e SR TR
What are the objectives of National Programme for Education of Girls at Elementary
Level ?
(a) Reduction of gender gap in education sector
(b) Ensure greater participation of women and girls in the field of education.
(c) Improve quality of education
(d) Stress upon the relevance and quality of girls education for their empowerment.
Which of the above statements is correct ?
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (c) and (d) are correct (4) Above all are correct
105. JEI® TN faumiis! ®Iv Framed e o1 ?

(a) TSI 9 ISR ISR AeATe dHRl Heloey Ao sl dan i dodd aeo!
3TR.
(b) T TR FAHTURUIU FEL A TG,

q’ﬂ‘f'ﬁ?ﬁﬁ:
(1) 9% (a) (2) TS (b)
(@) = (4) Tehet &

Which of the following two statements is patently wrong ?

(a) Unemployment of graduates and postgraduates has increased faster than among
matriculates. :

(b) Disguised unemployment is generally found in urban areas.

Answer Options :

(1) Only (a) (2) Only (b)

(3) Both - (4) Neither
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106. T3.3TH.RY/TSY T® JAHLS YY1 SEHAN ThHl S=[ ot SIaed qgumea gfafe
(3D T[efaw sTedel) TV e %ol SR, /&l s whivl 2
(1) sy s=m @) =
(3) v w=m (4) vt s=A

United Nations Programme on HIV/AIDS has appointed one of the Bachchans as
International Goodwill Ambassador.

Which Bachchan is this ?
(1)  Amitabh Bachchan (2) Jaya Bachchan
(3) Abhishek Bachchan (4) Aishwarya Bachchan

107. ‘wved faem’ o1 fawaedie 99w g 9 stufd Ref-2012 743 @eieds! 3o 9 ead
faemraTETet wata sTafter T R =hfva HAE e ?

(1) IR YIdedl GHrom (2) %a nfur qroft gguomer FEE
3) i darm grem @) e ffe

In the UN Conference on Sustainable Development also known as Rio 2012 which factor
mentioned below was announced as the most indispensable requirement for sustainable
development ?

(1) Improving literacy level (2) Curbing air and Water pollution

(3) Preserving natural resources (4) Eradicating Poverty

108. ‘T 31w feqq T gFaa’ & HHIR e ST Astag et frrEa ong ?

(1) ORI Hg (2) WEHAR HETE 98

(3) WHSER 94 (4) AT ST 9

‘Center of Indian Trade Union’ the Labour Organization is related to
(1) Indian National Congress (2) Marxist Communist Party
(3) Socialist Party (4) Bhartiya Janata Party

HoAT HAMEES AT /SPACE FOR ROUGH WORK
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109. e o,

(a) 9R @fidt (i) T YR SRR Gl 91 7 fohall et raaian
JATY hHEA AT,

(b) &S Wit (i) @RI AT ST Bt

(c) SrToare Sfd (iii) dEHT &= fhan fasoma sfasiyes o s

(d) Hera wfd (iv) ¥9 TMoaial duwiE A i |
THARTI 6 M.

(@ () (o (d)

M @ @) 0w

@ @) @ @ 0

() @) () ) @

@) D) @) @) @

Match the pairs

(a) Bhor Committee (i)  All types of health services should be made
available at group or block level.

(b) Mukharji Committee (ii) Peoples health in peoples hand

(c) Jungalwala Committee (i) To include preventive and social medical
science in medical field or education

(d) Shrivastav Committee (iv) Unification of medical and health services

at all levels.

@@ () (9 (d)
1 @ @) @ )
(2)  (v) (@) (@) ()
(3) @) @ (v) (i)
(4) @) @@ @) @

110. SIS PV TS AT BrehdEie AfTes T ?

(a) IS TR TgHE SHwHR T W T SR
(b) TS AT 80 FUEH SAftre iT= HEHd 916 TN IR
(c) TS AR FAR 70% TRET [E e,
R W
(1) % (a) (2) () T (D) (3) ¥ (o) 4 (a) (b) ()
Which of the following is not a characteristic of senior citizen population ?
(@) Majority of senior citizens are staying in rural areas.
(b) Among senior citizens the number of persons with 80* age is increasing.

(c) Almost 70% of senior citizens are below poverty line.
Answer Options :

(1) Only (a) (2)  (a) and (b) (3)  Only (c) 4 (@ ®), ©
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111. 'IA-foam foqe & g q R,
1) S (faards sHEgm smam)
) U Qerforw g 7 gfineor yiwe
(3) VRN GAVET HS
(4) SIS FURE .

Gyan - Vigyan Vimuktaye is the motto of

(1)  University Grants Commission

(2) National Council of Educational Research and Training
(3) Technical Education Board of Maharashtra
(4) None of these

112. WANIG IYad SHRi= faaMmERe! qeper JuEst Teid Seeee Aged Hivd 3a™
gefaen ?
(1) siteinienor (2) R
(3) ehIcHA (4) TETHHTE TEET

Which one of the following measures was advocated by the then Prime Minister
Pt. Jawaharlal Nehru for the development of the Scheduled Tribes of India ?

(1) Industrialization (2) Urbanization

(3) Integration (4) Administrative intervention

113. Yfdom faame wours
1) foar 7 o Sewm faarfsd Sew™RE T T/,
(2) St o Suet et faehd S,
(3) = WWIdie T 1 Sitdie JeurRt foarg s
(4) A e gen 1 Skdie S faams .

Pratiloma marriage is :

(1) When a couple lives in without getting married to each other

(2) When a man purchases his wife
(3) Marriage between woman of a higher caste to a man of a lower caste
(4) Marriage between man of a higher caste to a woman of a lower caste

HeAT HIMHIE ST /SPACE FOR ROUGH WORK
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114, T TolaaM S §9 1978 Hed Sofaame Gariio] s Weames QUard d T gt
FOGY TG PN AA.
1 HEdeTed 1 WY A ?
(a) A FER TEAOT TH 99 IR
(b) T HEE TR A Fg SST, T, FHART F TR AY SR
(c) o1 U X HIEATIH AL G s [aRRI o T 49 3R
Lpipl )
1) () 2 (® ®) (© (4 w09 TR R
The National Institute of Hydrology was established in 1978 for promoting and coordinating
all aspects of Hydrology.
What is not true about the institute ?
(@) The institute has its head quarters at Roorkee.
(b) It has four regional centres at Belgaum, Jammu, Kakinada and Sagar.
(c) It has two centres for flood management studies at Guwahati and Patna.
Options :
(1) (a) (2) (b) (3) (o) (4) none of the above

115. (a) YRA @ Afo T T IST=l (NAM) THIIRTET GHET 3T,
(b) 1955 WIS AT FET IRRA fow T Jasas= e AISHN .
() ifow T Jodatel sfed dfayum anftr gfeerea .

ThUH! FIvM fauH T 3R ?
1) (a) 301 (b) (2) W (a)
3) W (b) (4) TUoTs! THS TFT T AL

a) India is one of the founder members of Non Alignment Movement (NAM).
b) The principles of NAM were laid down in Bandung Conference of 1955.

c) NAM does not have a constitution and secretariat.

Which of the statemients are true ?

(1) (a) and (b) (2)  Only (a)

(3) Only (b) (4) None of the above

116, (a) HAFRIETN T IRQTE1 300 |- Hed 9d e,
(b) R YHIRUSTAT Safaen A STHeaTa1 TSR A Hd.
() ram e @@= iy TR,

o~ p— o~
e N’ N e

—r

Thotst woR faum g e ?
(1) “Hots! T8 9 3Ted 2) (a) 3T (b) T R,
(3) WH (b) ¥ IR, (4) TH (c) ¥ IR

(a) The word ‘secularism’ is not mentioned in the Constitution.
(b) Indian secularism recognises the right of an atheist.

() Religious freedom is unlimited in India

Which of the statements are true ?

(1) All are true (2) (a) and (b) are true
(3) Only (b) is true (4) Only (c) is true
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117. {8 Fdieare AUFAATER FoE! T 12 qui afgare fs wea S ol 91 S
Rt T2 WA 1 Folol HIoH! I Ll 344 ?
(1) 100 92 (2) 20049 (3) 500 92 . 4 209
As per the provisions of the Bombay Tenancy Act, a tenant, after establishing continuous
tenancy of 12 years, can become owner by paying an amount equal to how many times

the current rent ?
(1) 100 times (2) 200 times (3) 500 times (4) 20 times

118. T A1 AT e SIS AT TR ¢
(a) forneatned fafay gfewm famfaa wo.
(b) faameained g 9 SHUE FRIHA fawfaa F0,
(c) foeneained Ut w9 QIS GEaR gRISHNE! fahE FTo),
(d) wuS YA foeneatan sfwaa fawm et
TR HIvE faum/ faum ster ong ?
1) @ @) 2 @) @) (b)) MM (d) (4) TR M
Following are the objectives of National Service Scheme :
(a) To develop various approaches in the students.
(b) To develop leadership qualities and democratic attitude in the student.
(c) To develop national integration and social harmony attitude in the students

(d) Develop personality of students through community services.
Which of the above statements is/are correct ?

(1) (@), (c)and (d) (2) (c)and (d) (3) (b),(c)and (d) (4) All are correct
119. fTeEeF =N WiEdER 2011-12 H&d MRAW Faitees T SIveEn 91 gt ?

(1) BT (2) W@ (3) HITR (4) foem

Which was the poorest state in India as per the Planning Commission in the year

2011-12 ?

(1) Chhatisgarh (2) Jharkhand (3) Manipur (4) Bihar
120. TERTE Yol ASFIR gt ASARE FioRen HHE Fei fae K aR ?

(a) IS AT (b) STEHYRT

(c) oI (d) Saferm SrvTe AN

i IW

1 @ ®)F () (2) = (b)

(3) H (o) 4 (), ©9F(d)

Which tasks does the Maharashtra Rural Employment Guarantee Scheme gives preference

to?

(@)  Fruit tree cultivation (b) Water conservation

(c) Afforestation (d) Personal Beneficiary Schemes

Answer Options :

(1) (a), (b) and (¢) (2)  Only (b)

(3)  Only (c) 4) (), (c) and (d)
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121. (a) UUEA IO ORI TTUHR FATT (AFSPA) B TRATS FeRaR! Tues Fre .
(b) T FHEF fan YW B R,
(c) T FEI A U T, G, TGS QAT AT Fel HLal,
FIH I A 318 ?
1) @9 ®) (2) N (a) G @)@ @G @F(@©
(a) Armed Forces (Special Powers) Act deals with problem of separation in India
(b) The act is in operation in Sikkim
(c) The act does not allow deployment of Army, Navy and Airforce in disturbed Area
Which of the above are true ?
(1) @and(®  (2) Only (a) () (*(b)and () (4) (a) and (0
122, HfE F9d Tl YBIFR BT YRAW dfeel fe fSee e[ siven fSegmer am firsme ?
1) TR (2) IR (3) @i (4) www
Which district in India received the first clean district award due to the efforts of Women
Self Help Groups ?
(1) Solapur (2) Kolhapur (3) Sangali (4) Satara
123. ESI a1 1948 9 T4 o WeHEes, Hiviedl Haledl SHarid 34d ?
(1) TEN®, "eEseE ahR FEr sfn 9=m 1o,
(2) MR A ISR HAA.
(3) SRy i = HaATA.
(4) WM =T o HRITRU HASE.
Employees * State Insurance Cooperation under ESI Act 1948 is an autonomous body
under which Ministry ?
(1) Ministry of Personnel, Public Grievances and Pensions
(2) Ministry of Labour and Employment
(3) Ministry of Commerce and Industry
(4) Ministry of Social Justice and Empowerment
124. GBI R I Shaeal o Tfgd g% 1ot STORTUET 2011 STUR Haid \I’d 60 + <A1

DFEE=A T et FHE (S 7RI T6T VT HHIGER 3THS ?

(1 2= (2) 3= (3) 4= (4) 51

If 60 + aged population is taken as a reference point and if the state with the highest
60 + population of the census 2011 is given the first rank ; where would Maharashtra

stand ?
(1) ond (2) 3rd (3) 4th (4) 5th

Hoel HWMHIS SR /SPACE FOR ROUGH WORK
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125. (i@ g faymier faem &

(a) TeEmm ST fdme IR fhadiden Seaemoe w319 .

(b) 3¥g T oo fhdiden SHt o7,

ST I Y
(1) (a) TS W (b) AT (2)  (b) IR WY (a) T
(3) T (a) T (b) X (4) THR T AR

Consider the following two statements.

(@) The Minimum Support Price is usually lower than the Market Price.
(b) Issue Price is lower than the Market Price.

Now state whether :

(1) (a) is right but (b) is not (2) (b) is right but (a) is not

(3) both {a) and (b) are right (4) Neither (a) nor (b) is right

126. (a) HYFR TSI Q& TR AU ¥iaal 9 YRl QT SEeer 7R,
(b) HaT UfEed HEAEET IR UL .
(c) HREN URRd STEUrRlt TWEU <@l U oTed.
(d) FETEET T THUYHR k.
FhBANT HIoM G T 38 7
(1) (a) ST (b) 2 (), (0 efor (@) (3) o T (4) wH (a)

(a) The United Nations Security Council is given the responsibility to maintain
international peace and security.

(b) There are four permanent member states in Security Council.
(c) There are ten non-permanent member states in the council.
(d) The permanent members have veto power.

Which of the statements are true ?

(1) (a) and (b) (2) (@), (c)and (d) (3) Allare true (4) Only (a)

HoAT HIUTETS 9T /SPACE FOR ROUGH WORK
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127. TEO el SCARATT ST Foli THI0 17% SHfS0res ot 80% TR VEeie Fdes 3% e sitfeorss 9
] YOI STTd OIS T STHATT STohaidl STard fevd! &fT aTaRar STat 1R ?
(1) 9@ IR 80% &A1 AT TS 31T,
(2) oD YAN 60% &THAT ST IS TR,
(3) e GAR 40% &HT ATILAT TS TR
(4) FFB GAR 20% & SATRAT ST SR

Hydel power accounts for 17% of the total power generation ; thermal power accounts

for 80% and nuclear power onlv about 3%.

Despite the inherent advantages and superiority of hydropower plants over thermal and
nuclear plants how much of hydropotential has been used so for :

(1) Only about 80% of its potential has so far been tapped.
(2) Only about 60% of its potential has so far been tapped.
(3) Only about 40% of its potential has so far been tapped.
(4) Only about 20% of its potential has so far been tapped.

128. TSN I SIENTH TG WIS Reho A1 Fed! RIER 1dt FH.
(1) FHieT IS Afeds ey HAHIST
(2) et Geanm o @SR
(3) WIfEd™ A & JavATHISt
(4) SN TAGT T FHIUGHRT
National Knowledge Commission recommended scheme of special purpose vehicle to :
(1) manage day-to-day working knowledge
(2) secure data and its privacy

(3) establish store house of information
(4) set-up central library

129. 39T TSI TN TR ARMRIAT ‘e’ € Haheq ! Weteyeh] HIvE! T8 ?
(1) e Fe! gost wrem gl
(2) Tt EaTedia fada WA WIS SRS wRfehal weud gfeeror 3oy
(3) SR S TAF-qvE |al
(4) R FoaraE! 9ieq Fifes 3ifas i starai=n Medn
Under our National Rural Health Mission ; what does the concept of ASHA stand for ?
(1) Equipped infrastructure for safe delivery
(2) Training local residents as Accredited Social Health Activists

(3) Pre and Post Natal Services
(4) Free tablets of folic acids and others to women

HOAT HIATETS S /SPACE FOR ROUGH WORK
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130. S & -
M -A -9
(a) GEATTETOI=AT T[UTE GEROT ()  UA.d3.SE A S e
(b) fosm, it enfor sush fawar=n foeomee folwery (i) S@i-wH.dhwE. .
(c) EUURTHIRE srega gfaw (i) AR TH.THT,
(d) Temenfa fafay v, won gaeen snfor = S (iv) TImae&E,
Hooral, TReiR foheiidt Ao, T m. . wew anft
HHETE THATHTOT FIFET0N ST SYHAAT IS
A FEA 0.
(v) LS
@@ (® (9 (@
O Gv) @) @ G
@ @ () @
(3 @) @) @& (v
@ O ) @
Match the following :
Group - A Group - B
(a) Promotion of quality in Technical i) NPEGEL-GRC
Education
(b) Focus on Science, Maths and English (i) Quality - M.PS.P.
education
(c) Computer Aided Learning Facilities (i) R.M.S.A.
(d) Provide resources for addressing gender (ivy AILCTE.
related issues and also provide a platform for
mobilization of strategies like Maa-Beti Melava,
Kishore Kishori Melava, SMC Members and
Community mobilizer’s Training.
(v) KGB.V.
@ (b © (@
© @) @ @)
@ ) () @) @
G (@ ™ O
@ O @ @) @
131, WRIHIEIRE Hearen Yisiee et & suswd R YR TR
(1) TS RIS (2) AATERIS WFTERT
() frgurde wrier (4) Fdrdle AFIRRY
The project Shiksha Programme of Microsoft Corporation is based on
(1) Partners in Learning (2) Partners in Studying
(3) Partners in Education (4) Partners in working
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132, W %1 o STLAT ST YihAT STV & SForeqATHied Hifgdt daa feor snfor wifedt
TIIH H{fAd S The Y01 R @, 8 B TR 6 Iga €Ul Hifgd! AAER JHEL SHa
Sefraey, Yte freu, = &34 MeTAIETet 9 STaTsEy <SSt |ieA Howit i Hvarenet

GG HAO. T O ffHhT g8ad ?
(1) e gaETed, R T (2) SIS,
() UTIREEAI. (4) ITdRT HIONE AR

My mission is to integrate in a self - sustainable manner IT education and IT enabled
education with the basic teaching learning process and its management. The goal is to
prepare the graduates for the knowledge - based economy, champion the cause of life
long learning and stimulate the creation of world class resources through information
technology. Whose role I play ?

(1) Directorate of Technical Education, Maharashtra State

(2) LLT.
(3) A.ILCTE.
(4) None of these

133. T feoean faumite! Ho faum sifawfa Juiersa 3w e ?
(1) T SR I HHT 7.
() T wisaw it 5w e
(3) = arEfae MU WyaHd s WHE-HUH ARRR @oe ST .
(4) T=ATRS A ITANE 7 A0S N ATHAD 3T,

Which of the statements given below is incorrect with reference to the underdeveloped
countries ?

(1) Their per capita income is low.

(2) Their rate of capital formation is low.

(3) They have exhausted their actual and potential natural resources.

(4) They have substantial manpower which is not fully utilised.

134, ST VAT ARRME FEHIHRIU WIHS StaTee 9 Y= el sTe.
(1) Hicwerd snfn ‘&' SitaaE
(2) hfcwrer snfor ‘31" Siterwwe
(@) Hicwem, fErwfem snfor oy wfom
(4) Hicwrem, ‘o' SlowE, ‘& Siaagd, el snftr ay) gfom
Tribal diets are generally grossly deficient in :
(1) * Calcium and Vitamin C
(2) Calcium and Vitamin A

(3) Calcium, riboflavin and animal protein
(4) Calcium, Vitamin A, Vitamin C, riboflavin and animal protein

HoAT HIMTEE! ST /SPACE FOR ROUGH WORK
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135. "'ERE TSR A1 A g9 &1 7
(1) T SEAGRIAT USRI HIeTed Frmeror <o,

(2) STEUfdE M UG WTHTHE FHAE W FEUIRT TEd WSS Akl
PISE

(3) T ISR g AAaia & woo! Th SIaarsH.,
(4) FE IEAR SASTIR F NS Fiaen 31 a0 Jaoean Joias] e Foot sieed i
FHTAHT.

What is the objective of the scheme “Hunar Se Rozgar” ?
(1) To impart skilled training to rural artisans for self employment.

(2) A programme in hospitality sector to fill the gap of skilled manpower from Below
Poverty Line persons.

(3) A new sub programme under National Rural Employment Guarantee Scheme.

(4) A skilled training programme introduced by the Central Government for unemploy
youths educated below 8th Standard ?

136. WERIMEN 9 2000 IR Wafyes 37y arethes memte Reaa STraT freiesi=an Ao Sudraet
HI! A YA S 378 ?
(1) foaeor G5 (2) foan = (3)  foregor &t (4) faen wermw

Which is the scheme being implemented in Maharashtra from the year 2000, for recruiting
the teachers on vacant posts in primary and secondary schools ?

(1) Shikshan sevak (2) Shiksha karmi
(3) Shikshan hami (4) Vidya Sahayyak
137. e AvmE QidE Rrevile qoien yavme yH aefavarre! gufas.
(1) YTSIAI O
(2) HGIEIET Tehed

(3) Tt Sofas™ wEHA

(4) HIEATE SRR A

Durgabai Deshmukh Samiti suggested to increase enrolment of girl - child in
education.

(1) Appointing school mother

(2) Matruprabodhan Project

(3) Integrated Children Development Programme

(4) Mid-day meal programme
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138. FGHUTTIAR FH Al
(a) HAGH(CA HHATR GHTSIH YL HIF-I
(b) FHHIA T o FrE
() HLHR FMR T g FiwR g | FE
(d) wHER vfgss frafg fet snftn sR et FEa
REIRIIc
(1) (a), {c), (b) (d) (2) (@) (b), (d), (¢)
(3) () (@), (@) () 4)  (b), (), (9) (a)
Arrange in chronological order
(a) Unorganized Workers Social Security Act
(b) Employees State Insurance Act
(c) Contract Labour Regulation and Abolition Act
(d) Employees, Provident Fund and Miscellaneocus Provisions Act
Answer Options :
(1) (a), (o), (b), (d) (2) (@) (b), (d), (c)
3) () @), @) (© ) (b), (d) () (@)
139. PHHE faehiz TR 2
(1) TR oo a6
(2) T THL AN T gL
(3) T I g AT<AT U HIgdl YHIUE A0 960
(4) IR WA A6
Population explosion means ?
(1) Increased rate of births
(2) High birth rates and high death rates
(3) Drastic shift in the balance between birth rates and death rates
(4) Increased rate of Death
140. sfen Tt U o faamdteren wedqd TaR FEwHiGTd wd faeneata @eetsl S

HAHH AT 378 ?

(1) W T GaR $TRITEsA

() HHIN® WEAS TR A AHRA

(3) aegAYle dar SYAEE

(4) =oYs! HIvER E

Which course is compulsory for all the students of Bachelor’s Preparatory Programme
conducted by the Indira Gandhi National Open University ?
(1) Preparatory course in General Mathematics

(2) Preparatory course in Social Science

(3) Preparatory course in Commerce

(4) None of the above
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141. 2011 =1 SEVHTER 9RA 0 § 6 TGN Goi=a1 StAT= THI0 900 &1 FHl Hivren Tsaraed
7 (1000 YHAR HS=AT SHTS JHI0)
(a) oriywew, ™ 9 fagR
(b) TGS, IWIW T T T FIFHR
(c) Teurae Wew, ¥RES 9 HEAWRY
() enfEn, 9w s 9 aifeTg
Tots! wior faum /faum ateR o ?
1) @ G 2 @30 (3) WX (b) 4) () (B (9
Which of the following states have 0 to 6 year Sex Ratio less than 900 as per Indian census
2011? (Ratio of female births per 1000 males)
(a) Andra Pradesh, Assam and Bihar
(b) Uttarakhand, Uttarpradesh and Jammu and Kashmir
(c) Himachal Pradesh, Jharkhand and Madhya Pradesh
(d) Orissa, West Bengal and Tamil Nadu

Which of the above statements is/are correct ?
(1) (a), (b) and (d) (2) (a)and (b) (3) Only (b) (4) (a), (b) and (c)

142, 9RANI® ISTTRIETeE Wt 99 faamd =
(a) STAFEIS Hleld IRATT MM FFIe TTed TR, W AR FHfHd ot groer R,
(b) 11 AT GIEINF I (2007 - 2012) 58 Txed IR FHAE 37 2.
FABYn! I/ R0 Taum/faem seR o ?
1) (a) B (2) (b)) B
(3) (a) =ft (b) I (4)  (a) @ T fvr (b) & TR
Consider the following statements in the context of employment in India :
(a) Inrecent past, there has been decelaration in growth of employment in India inspite
of accelerated economic growth.

(b) 11% five year plan (2007 - 2012) was aimed to create 58 million job opportunities.
Which of the statement/statements given above is/are correct ?

(1) (a) only (2)  (b) only
(3) Both (a) and (b) (4) Neither (a) Nor (b)
143, TGB! HIV/HIVA TToa STAAE a1 a9 1985 ¥ Fafya Tegar/d ?
(a) W& (b) TRTCHAT (c) forra (d) il
RURERCRAECENS
(1) (a) S (b) (2) (b) BF
(3) (o) 1T (d) 4) (d) B
Which of the following was/were not the theme/s of International Youth Year 1985 ?
(a) Participation  (b) Integrity (c) Development (d) Peace
Choose the correct option :
(1) (a) and (b) only (2) (b) only
(3) (c) and (d) only (4) (d) only
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144, SHN< TR 9 3719 Ii=a1 Sirean oE.

(a) diHd IR G) o T e dem fmio o S

(b) |EAHS SHR (i) oA dARETR Fraior Fomt SR

(c) T S (ill) FHAVHR G TEfaUarae! IS deen
CRIC]

(d) R SRt (iv) IS AT ST Sifefeh RO SreehTa
SR} ST

@@ () (9 (d)
1 @) @) @ @
) @) @) (@) (1)
@ @) @) @ @
@ @ @) @O (i)

Match the Types of unemployment and their meaning.

(@) Mechanical unemployment (i) Unemployment created by agricultural or
Industrial sector.

(b) Structural unemployment (i) Unemployment due to new Technology

(c) Seasonal unemployment (i) Lack of money with Government for the
implementation of welfare scheme

(d) Urban unemployment (iv) Unemployment due to economical reasons

in the backward areas of the country
@@ (b) (o (d)
1) (@) @) @ ()
) @) @) Gv) @
3 () @@ @@ @
4) @ G@v) @ )

145. 9RA s SATIR HeET=] G0 HG& 3HeaM Foed fofg sem qresd s&d ? - sirifas
MR oA 9 WRATT AR (@S S Sel A6 2
(1) HEAT YRAE TG Y6k HHl HIOIME1 3TWE HUd 3T,
(2) YRAM e THM WX HRIT AR T Kot TR,
(3) AR IURA HISH FAIT HRAW YSHUE faeg Qo= TGITuRd FaT Sl 430.
(4) A SATIR FoAT JARTAT T ITHAIAT SRR HI S Tal.
India being a founder member of the WTO has been following the WTO decisions.
Which of the following is incorrect about WTO and Indian trade ?
(1) WTO has been urging India to lower import duties.

(2) India has allowed the import of only new cars.

(3) Action against chinese dumping of goods can be taken only within WTO provisions.
(4) WTO agreements do not discriminate on the basis of size of industries or enterprises.
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146, STfae SRFY fgaw 2013 = Ve :
1) & T

(2) PRI Sfor TR

(3) BN TSI STRFAT T

(4) ST AT G

The theme of ‘World Health Day-2013" :
(1) High blood pressure

(2) Urbanization and Health

(3) Protecting health from climate change

(4) International Health Security

147. §3F U T FEFaM 14 9, 2013 A 779 fasm i anr o= 9t q9iee Fa.
187 INMHYA WRATHT HHIF 136 o1 TR, WISIGUH! HIvdl Few=r amR huar) SAqoaria!
Fer et ?

(@) AT g (b) & UK
() oMgAT gig (d) T ST TET S A
Wﬁﬁ:

(1) () (T () (2) (a) (0) ST () (B) (), () T () (4) (a), (c) ¥ (d)

The United Nations Development Programme released the list of nations as per the Human
Development Index on 14% March, 2013. India ranks 136t among 187 countries. Which
of the following criteria were utilised to determine the ranks.

(@) Access to knowledge (b) Sex ratio
(c) Progress in life expectancy (d) Gross National Income Per Capita

Answer Options :

(1) (b) (9and (d) (2) (a) (b)and(d) () (a) (b)and (c) (4) (a), (c)and {d)
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148. @IS (a), (b), (c) TaummE=n 3 @M= (p), (q), (r) FRUAA fo=R = :

(a) STHM TSATHIT 1981 F DIFHEAT AFHS U e .

(b) 1991 = V] § HRARY ST HhS FUATEA iige ol

(c) IR TAT=AT STaet FTeeaTdie RISTHIRM, ieht 9Tdl § YRed SUFAIITehita 2001 9 ShaE

3ehe S B,

(p) STEMHHIG Wadd e 1981 H&) STIVAT 8 el ARl

(@) TRIEHE § Thdlh! HROTEE S 9 FIVAE 1991 3 SFEEAT A6 GRS B SIS,
(r) T SUITTIG esaee 2001 St SHIVAT 81 What 7Tel.

faum (a), (b), (c) I 37T

HIT FRO 1 1 fqumeR i 9 R,

(1) (p) TR A (g TR (2) (q) TR & () T
(3) (p) MR (r) TR (4)  HIUIE SIS A

Consider the following statements (a), (b), (c) and reasons (p), (q), (r) :

(a) The population figures for 1981 of Assam were worked out by interpolation.

(b) The population figures for 1991 of Jammu and Kashmir were worked out by
interpolation.

(c) The population figures for 2001 of Mao Maram, Paomata and Pural Subdivisions of
Senapati District of Manipur were estimated.

(p) The 1981 census could not be held owing to disturbances in Assam.

(@) The 1991 census result of Jammu and Kashmir had to be cancelled due to technical
and administrative reasons.

(r)  The 2001 census could not be held owing to disturbance in the three subdivisions of
Manipur.

The statements (a), (b) and (c) are all correct.

State whether p, q and r are the correct

(1) Neither (p) nor (q) (2) Neither (q) nor (r)

(3) Neither (p) and (r) (4) None is correct
149. TASUH] HIUA fSHON 2012 WA TSHAUE FI0AT AT Bl 2

(1) =T @) e (3) e (4) =GR

In 2012, which of the following places had Jalsatyagraha agitation ?

(1) Harda (2) Khandwa (3) Bhopal (4) Haridwar
150. Yesd Teier goi1 TerRE X STossrd fenfadm.

(1) snem (2) SweETEt (3) =+ 4) T

In shala the teachers teach the children in forest areas far away from villages.

(1) Ashram (2) Adivasi (3) Kanavu (4) Kuran

-o0o-
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HATM — (Y8 1 969 93....)

©®) THYfaens fafeq Fown faftre Srfe #= M (6 T%) F9. TYRaHAfaie SavafThear a1
TR FOCER F FHH Hedi™d d HIU HOATAT WM K 3R, 3 AMS RS 9 ATTER SRR
YA S e wleimed goman TRy girs uaeres ifTEH-82 " il e TR HRaT
TG ITB 9 TN KT HHG Teh a9 FREMET 0/ fHa $93 TF §9R a1 ser=n ey
I BES.

(9) T TEUCTREE AENTH fafsd Fod 92 SUeaHd SHSINS B I sl T seR. e aeTel
U I WA SR, WA UHAT FHTETE ATyl SHE N ATIeaT STRUe el WIT-1
TAUAYHTHRS - faaar Wa T Eyae oTe.

RE LR
T HHIE 201, HAE! 910 T HOAEIET HIU Jod: I He 2
(1) T A weE @ svEER fauE
@) T UHEEA W @  TEE e

YR I IR (3) TS THAER W9 3 oTR. WTes 1 IR W ' (3)!! e, A
WIATHATO 599 3. 201 FHIG SH-54F ' (3)"" € ez QI SHifehd Fe Zr@fon] Sfoveh
TR,

152010 O Q@ @ @

T IGAH TG TYRahdie Yo Tl g0l SUGhais 8 grRrel Wil e
ITAHHINS T A T HIING Gafyd age it SHifhd ®&d Ir@amE.  gehiar
e ShTedl VIR |icsus aTud, Ui a1 vmge 9 9w -4,
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